
W O R K S H E E T 2 : T W E L V E - T O N E W O R K S H E E T


Ifyou are having trouble w ith thisw orksheet,reread M organ,“The Tw elve-tone system .” 

G iven the follow ing m elody (an excerptfrom a really aw ful tw elve-tone string quartetby a com poserw ho 

shall rem ain nam eless) 

1.Write the pitch classesw ithin the octave from m iddle-C to C above m iddle C (3rd space in treble clef): 

================= 

2.C all thatrow P0. N ow give the follow ing otherrow s: 

P7 ================= 

I0 ================= 

RI3 ================= 

3. Why isitthatthe firsttw o notesofP0 and I0 are the sam e? 

4. There isa transposition ofthe retrograde (R)w hich has3 ofthe first4 notesthe sam e as3 ofthe first4 

notesofP0. Whatisthattransposition (e.g.,R3,RE)? N otate thatrow : 

=====================


5. Keep the first6 notesofthe row P0,com plete the row in a differentw ay than the clow n w ho w rote the 

original m elody did,then changing the rhythm s,articulations,dynam ics,range,w hatever,to m ake a better 

m elody than given atthe top ofthe page (A betterm elody?you ask,how could itpossiblybeW O RSE?!): 

=====================



